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QUESTION 1

An architect for Company A is working on implementing a VMware Horizon solution. 

1. Company A will be acquiring Company B in the coming months. 

2. Company B has an existing Active Directory structure and there are NO plans to move those users over to Company
A\\'s Active Directory structure 

3. However, users from Company B need to be able to use VDI desktops running in Company A. Which step could the
architect take to meet requirements? 

A. Use vdmadmin

Correct Answer: C 

 

QUESTION 2

An architect is working on a physical desktop replacement using Horizon View. The architect gathered this information
from the customer: 

1.

 There are currently 500 physical desktops, all with traditional spinning hard drives. 

2.

 Each desktop peaks at 75 IOPS multiple times during the day. 

3.

 The average read/write ratio is 30% reads, 70% writes. 

The architect decided to size the vSAN cluster to handle the workload using FTT=1 and Fault Tolerance Method of
RAID-1. 

Using only the information provided, what are the total calculated IOPS required for the vSAN cluster? 

A. 75,000 IOPS 

B. 48,750 IOPS 

C. 63,750 IOPS 

D. 37,500 IOPS 

Correct Answer: A 

 

QUESTION 3
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A customer wants to securely deliver applications. They have given these requirements to an architect: 

1.

 1,100 corporate users 

2.

 Applications run on Windows 

3.

 Confidential data must remain inside the datacenter at all times 

4.

 Datacenter has a firewall separating it off from the corporate LAN 

5.

 Security team policy will NOT allow a corporate LAN subnet through the firewall to a datacenter subnet (example:
source 172.16.30.0 /24, destination 10.10.1.0 /24 would NOT be allowed) 

6.

 Security team policy does allow corporate LAN subnets to access specific datacenter IP addresses (example: source
172.16.30.0 /24, destination 10.10.1.100 /24 would be allowed) 

7.

 50 of the 1,100 internal users work exclusively on tablets, some Android and some IOS devices 

Which two recommendations can the architect propose? (Choose two.) 

A. Deploy Horizon Apps and install the Windows apps on RDSH hosts. Enable Secure Gateway Mode on the
connection server. 

B. Deploy Horizon View linked-clone desktops. Enable Secure Gateway mode on the connection server. 

C. Deploy Horizon Apps and install the Windows apps on RDSH hosts. Enable Direct Client Connection mode on the
Connection Server. 

D. Deploy Horizon View linked-clone desktops. Enable Direct Client Connection mode on the connection server. 

E. Deploy ThinApp and package the Windows applications. Stream them to the endpoints using Secure Gateway Mode
on the connection server. 

Correct Answer: AC 

 

QUESTION 4

A VDI Architect wants to optimize Blast Extreme protocol between 400 Horizon Windows clients and agents on an
organization\\'s LAN. No GPO currently makes Horizon settings to these clients or agents. What GPO setting will
improve performance of these systems? 
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A. Enable H264 

B. Disable UDP Protocol 

C. Enable UDP Protocol 

D. Disable H264 

Correct Answer: B 

 

QUESTION 5

A company asked an architect to design a VMware Horizon View 7.1 solution utilizing security servers to support 7500
local network users and 3500 remote sales personnel. These requirements were requested: 

1.

 Design must provide high availability 

2.

 Design must use VMware\\'s supported minimum number of connection servers 

3.

 All users will connect with BLAST or PCoIP 

Which two minimums can the architect recommend to meet requirements? (Choose two.) 

A. 2 Connection Server for local users 

B. 2 Connection Servers for remote users 

C. 3 Connection Servers for remote users 

D. 3 Connection Servers for local users 

Correct Answer: AB 
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